= O
N 2 0l & AF S E A A
A 23 AR

B ploy PE(LUITHI/ABLLI B2

el S8He A2 (chel: &3
S BB SRA(SIH) - HRAY - B S 0l & 24 013 o BB

Ol 3| AbS 2t 660, 151 672,088 A 11,937
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SEXQ ARG 187,201 180,898 6,303
o322 83,257 92,174 A8,917
201 LEH2HH| 41,282 45,868 N4,586
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OAtR2t2dl olatE S &2 -4,328,000& N4,328 0 N4,328
02 2323l 2,326 2,584 A 258
O3323Hl HazEdE —258,000& A 258 0 A 258
202 (4Hl 38,975 43,306 A4,331
01 =AY 31,775 35,306 A3,531
O=HHl HaE2=2 -3,531,000& A 3,531 0 A3,531
04 =Xs0oibl 7,200 8,000 A 800
O=HM3stodl =2 -800,000& A800 0 A800
Al & Edlatel 103,944 88,724 15,220
201 et 18,020 17,800 220
02 25234l 18,020 17,800 220
OXHEH| 14,400 12,400 2,000
—Xg 75 24l 825,000& 123 9,900 8,400 1,500
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SEES 465,830 484,070 A 18,240
201 et 9,000 10,000 A 1,000
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205 2l3ld| 456,830 474,070 A17,240
03 =LA bl 12,960 14,400 A 1,440
O3 Ul HaEZZ2 -1,440,000& A 1,440 0 A 1,440
04 =2/0dl 3,600 19,400 A 15,800
O R 2204 o0& 0 5,000 25,000
O2& =2/l 4,000,000& 4,000 14,400 210,400

O=210dl oaEZ = -400,000 A400 0 A400




